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Q 1. [ The later , the latter ] part of the play was the most interesting.
Q 2.1 have nothing [ father, further ] to say on the subject.

Q 3. Mary is five years [ older, elder ] than my [ older, elder ] sister.

Q 4. This mobile is the [ last, latest ] mode released in 2014.

Q 5. He has as many books [ as, than ] she.
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Q 1. Radio was invented in the later of the 19th century.

Q 2. She is as tall as Tom.

Q 3. She is not so tall as Tom.

Q 4. He is not so timid as he looks.

Q 5. We came up with as many ideas as we could.
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@ great - greater — greatest

@ small - smaller — smallest

® strong - stronger — strongest
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@ hot - hotter - hottest

@ big - bigger — biggest
(3) ‘Atg+y'2 BLi= TOl=E yE i2 1M F -er, -est & EQICt

@ happy - happier — happiest

@ early - earlier - earliest

(4) o{0|7} ful, -ive, -ous, -able, -less SO 2 ELI= 2,3 SH 0|49 Tlo{= more, most £
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@ famous - more famous - most famous

@ beautiful - more beautiful - most beautiful

® quickly - more quickly - most quickly
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good, well better (4

bad, ill worse (4

many, much more (4

little less (H M)

older (G L}O|E)

old
elder (G £22|)

farther (G ™) farthest (Z7}&F ©)

further (3 O|&9]) furthest (7%

later (H =&) latest

latter (ELC} 29|) last

My elder sister is two years older than L.

Would you call again three hours later?

I like the latter part of the movie.

I got up later than usual.

I can go no farther.

I have more books than you.
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« He is as busy as a bee.

« I run as fast as you.
I have as many books as you (have).
e He is not as wise as you.
« He is not so young as her.
(2) B+ &EH
« They live in a house twice as large as ours.
« My book is three times more expensive than your book.

« He has two-thirds as many books as I (have).

(3) as many as + S 7[AHHA} / as much as + (2H|-A|ZHA2|- 2N F9) U

« He has as many as five kids.

« He has gained as much as 10 pounds.

(4) ¥2H|uo| et A

« I love you as much as he (loves you).

I love you as much as (I love) him.
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+ We walked as fast as possible.

= We walked as fast as we could.
» He read the article as slowly as possible.

@ the same ~ as

« He wears the same

kind of clothes as his brother wears.
(® as(so) far as

~Ste o

—

 So far as [ could do, I did my best.
@ as(so) long as

~ot= &

2t

» You may use my car as(so) long as you like.

® not so much AasB: A 2}7| 2Ct= BLC}
= less A than B

= B rather than A

The boss is not so much a pessimist as a realist

= The boss is less a pessimist than a realist.
The boss is rather a realist than a pessimist.

The boss is a realist rather than a pessimist.
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Q 1. The price of this computer is three times as high as that computer's.

Q 2. This is the same book as I saw.

Q 3. They are not so much lovers as friends.

Q 4. We must get further information.

Q 5. This is better house than that one.
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Q 1. [ The later , The latter ] part of the play was the most interesting.
Q 2. I have nothing [ father, further ] to say on the subject.

Q 3. Mary is five years [ older, elder ] than my [ older, elder ] sister.

Q 4. This mobile is the [ last , latest ] mode released in 2014.

Q 5. He has as many books [ as, than ] she.
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Q 1. Radio was invented in the later of the 19th century.
2iC| 2= 19M|7] Zho] 2FEIALC
Q 2. She is as tall as Tom. / A= Tom2t2 7|7} ALt
Q 3. She is not so tall as Tom. / A= TomTtE 3 X| QLY.
Q 4. He is not so timid as he looks. / &= B7|9t2 AMSIX|= L}
Q 5. We came up with as many ideas as we could.
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Q 1. The price of this computer is three times as high as that computer's.
o AFEQ 7t42 X HFEECt 38 HIMCE

Q 2. This is the same book asIsaw. / O] 82 {7} 2 Zia} Z Zio|C}|.




